


Problem 10.53

What is the molarity of an [image: image1.png]HCI



solution if 11.0 [image: image2.png]


 [image: image3.png]HCI



solution is titrated with 21.6 [image: image4.png]


 of 0.130 [image: image5.png]
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solution? 
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Problem 10.85
What are the [image: image17.png][H;07]



and [image: image18.png]


for a solution with the following [image: image19.png]pH



values?

Part A

[image: image20.png]pH;



 = 3.60 

Answer in the order indicated. Express your answers using two significant figures separated by a comma. 
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Part B

[image: image22.png]pH>



 = 6.56 

Answer in the order indicated. Express your answers using two significant figures separated by a comma. 
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Part C

[image: image24.png]pHs



 = 8.65 

Answer in the order indicated. Express your answers using two significant figures separated by a comma. 
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Part D

[image: image26.png]pHy



 = 11.40 

Answer in the order indicated. Express your answers using two significant figures separated by a comma.
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Problem 10.87

What is the [image: image29.png]


in a solution that contains 0.220 [image: image30.png]


 [image: image31.png]NaOH



in 0.265 [image: image32.png]


 of solution? 
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Problem 10.89
What is the [image: image35.png]pH



of a solution prepared by dissolving 4.5 [image: image36.png]


 [image: image37.png]HCI



in water to make 415 [image: image38.png]


 of solution? 

Express your answer using two decimal places.
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Problem 10.103

There is a solution of 6.6×10−2 [image: image40.png]


 [image: image41.png]KOH



.

Part A

Determine [image: image42.png][H;07]



.

Express your answer using two significant figures.
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Part B

Determine [image: image44.png]pH



. 

Express your answer using two decimal places.


[image: image45.png]pH



 =

Part C

Determine products when reacted with excess of [image: image46.png]H3PO,



.

Express your answers as chemical formulas separated by a comma.

Part D

Determine milliliters required to neutralize 54.0 [image: image47.png]


 of 7.0×10−2 [image: image48.png]


 [image: image49.png]H2804




Express your answer using two significant figures.
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Problem 10.25

What is the conjugate base of [image: image50.png]H2804



? 

Express your answer as an ion.

Problem 10.29
Why are the concentrations of [image: image51.png]Hy0"



and [image: image52.png]


equal in pure water?

